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2 166,532 166,532 0
< 2,734,547 2,755,591 A21,044
Al 7,885,747 7,986,203 A 100,456
XSASI 2R Jlg =4 4,505,389 4,765,023 A 259,634
2 1,192,527 1,356,775 A 164,248
2 166,532 166,532 0
< 435,682 445,875 A10,193
Al 2,710,648 2,795,841 A85,193
XA EXEH 3,197,721 3,407,355 A 209,634
2 1,092,012 1,256,260 A 164,248
2 166,532 166,532 0
< 327,900 338,093 A10,193
Al 1,611,277 1,646,470 A35,193
Azl 2el 1,630,701 1,605,701 25,000
2 166,532 166,532 0
[= 93,896 68,896 25,000
Al 1,370,273 1,370,273 0
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[=4 65,000 40,000 25,000
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01 Al&HI 273,000 248,000 25,000
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[ 10,000 10,000
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[ 5,000 5,000
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[ 10,000 0 10,000
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2 1,092,012 1,256,260 A 164,248
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307 l12+0| & 1,558,592 1,793,226 A 234,634
=2 1,091,012 1,255,260 A 164,248
[=4 233,790 268,983 A35,193
Al 233,790 268,983 A35,193
05 QIZt9IEr2 1,558,592 1,793,226 A 234,634
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=2 883,697 1,034,969 A151,272
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EEdTME FA 809,783 859,783 A 50,000
=) 51,000 51,000 0
Al 758,783 808,783 A 50,000
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Al 675,500 725,500 A 50,000
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=) 2,298,865 2,309,716 210,851
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Z & 91,000,000 91,000 116,988 A 25,988
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= 222,449 237,076 A 14,627
=) 27,806 29,635 A1,829
Al 27,806 29,634 A 1,828
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= 222,449 237,076 A 14,627
=) 27,806 29,635 A1,829
Al 27,806 29,634 A 1,828
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= 222,449 237,076 A 14,627
=) 27,806 29,635 A 1,829
Al 27,806 29,634 N 1,828
Iz2=s A 223 SAXIAAMS 790,572 929,217 A 138,645
= 790,572 929,217 A 138,645
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= 790,572 929,217 138,645
01 ABl 2R 462 790,572 929,217 138,645
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2N 790,572,000 790,572 929,217 138,645
= 790,572 929,217 138,645
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= 27,938,173 29,391,452 A 1,453,279
< 2,172,969 2,186,001 £13,082
Al 992,715 1,020,000 £27,285
301 LB A3 30,679,823 32,173,419 A 1,493,596
= 27,565,573 29,018,852 A 1,453,279
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EEE P 30,679,823 32,173,419 A 1,493,596
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OoH & M 2 01 (396 ) 2N 242,053,0008! 242,053 208,532 33,521
= 217,847 187,679 30, 168
= 16,944 14,597 2,347
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= 1,645,213 1,695,681 A50,468
Al 705,091 726,717 ~21,626
2| EMEE ALY 795,334 740,453 54,881
= 580,237 533,376 46,861
= 98,090 94,080 4,010
Al 117,007 112,997 4,010
Ag=x 605,680 550,799 54,881
= 487,500 440,639 46,861
= 59,090 55,080 4,010
Al 59,090 55,080 4,010
301 Lpte &3 605,680 550,799 54,881
= 487,500 440,639 46,861
= 59,090 55,080 4,010
Al 59,090 55,080 4,010
01 ABI 2= 4523 605,680 550,799 54,881
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ZH 605,680,000 * 144 605,680 550,799 54,881
= 487,500 440,639 46,861
= 59,090 55,080 4,010
Al 59,090 55,080 4,010
WEEEIOCEp 3,804,421 3,762,593 41,828
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